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Tekst 4 

 
1p 4 Kies bij    4    in alinea 1 het juiste antwoord uit de gegeven 

mogelijkheden. 
A earn an income from making films. 
B express themselves through film. 
C get accepted at the film academy.  
D promote talented local actors. 
 

2p 5 Geef van elke van de volgende beweringen aan of deze wel of niet 
overeenkomt met de inhoud van alinea 2 tot en met 5. 
Omcirkel ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Bij Chocolate Films leer je meer dan alleen hoe je een film maakt. 
2 Je moet een toelatingstest doen om bij Chocolate Films te worden 

aangenomen. 
3 Chocolate Films biedt cursussen aan op verschillende niveaus. 
4 De onderneming Chocolate Films financiert initiatieven van lokale 

liefdadigheidsinstellingen. 
 

1p 6 What becomes clear about Chocolate Films from paragraph 6? 
A It has boosted the careers of some well-known actors. 
B It has made profit by asking celebrities to finance them. 
C It is supported by famous people from the film industry. 
D It relies on the expertise of experienced professionals. 
 
 

Tekst 5 

 
1p 7 Which of the following can not explain why there are Nile crocodiles in 

Florida according to paragraph 1? 
A accidental escape 
B deliberate release  
C natural migration 
D unlawful import 
 

1p 8 What is the main point made in paragraph 2? 
The Nile crocodiles are 
A a possible threat to the local environment. 
B difficult to keep in captivity. 
C in danger of becoming extinct. 
D of great interest to wildlife researchers. 
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1p 9 How does paragraph 3 connect to paragraph 2? 
A It summarises what is said in paragraph 2. 
B It supports what is said in paragraph 2. 
C It weakens what is said in paragraph 2. 
 

1p 10 Welk nieuw punt over ‘invading species’ wil de schrijver maken met het 
voorbeeld van ‘The Indian Silverleaf whitefly’ (alinea 4)? 
Geef antwoord in het Nederlands. 
 

1p 11 What is the main point made in paragraph 5? 
A Efforts to interfere in nature might go wrong. 
B Farmers are in favour of biological pest control. 
C It is impossible to domesticate wild animals. 
D The harm that insects can do is underestimated. 
 

1p 12 ‘the habit of rabbits to reproduce like, well, rabbits’ (alinea 6) 
Wat maakt de toevoeging ‘well’ in deze zin duidelijk? 
Het gaat hier om een 
A met tegenzin gegeven bevestiging. 
B moeilijk uit te leggen argument. 
C voor de hand liggend punt. 
 
 

Tekst 6 

 
1p 13 What becomes clear from paragraph 1? 

A National security organisations are trying to get more female 
employees. 

B The actress for a leading role in the next Bond movie was found on a 
website for mothers. 

C The British producers of spy movies have launched a website to 
attract women. 

D Until recently women were forbidden to perform dangerous tasks for 
the government. 

 
1p 14 Which of the following is mentioned as part of ‘plans to rebalance the 

intelligence workforce’ in paragraph 2? 
A hiring better educated people  
B making it easier to combine work and parental responsibilities 
C offering job opportunities to the relatives of present employees 
D rewarding practical experience 
 


